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Uit Rates

e

A unit rate is a comparison of two quantities in which the denominat or has o volue of ong unit, To caicuiote O
unit rate, just divide the numerator by the denominator. Unit rales ore helptul n recl e for determining the
best buy, most miles per gallon, the fastest car, cellphone, etc, and many other uses. Toke o look ot the
following example:

A car dealership advertised the following rates on gal mileoge for three new cars:
The Avalon can travel 480 miles on 10 galions of gas.

The Compass can travel 400 miles on 8 gallons of gos.

The Patriot can travel 360 miles on 9 galions of gas.

Which car gets the best gas mileage? Change each ratio to a unit rate to help make y decision.
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Unit rates are also helpful for calculoting multipie numbers of on item (ke when you are ot the groCery sfore)

a. If a pound of bananas costs $0.53 a pound, how much are 4 pounds of banonas?
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b. If a box of Cheerios costs $2.99, how much are 3 boxes of Cheerios?
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c. If milk costs $2.59 a gallon, how much will 7 gallons cost?
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froblem Solving with Unit Rates

a. Anne is painting her house light blue. To make the color she wants, she must add 3 cans of white paint to
every 2 cans of blue paint. How many cans of white paint will she need to mix with é cans of blue?
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b. Ryan is making a fruit drink. The directions say to mix 5 cups of water with 2 scoops of powdered fruit mix.
How many cups of water should he use with 9 scoops of fruit mix?

A5 =2X

X s
é,fﬁff— 7{ — 45 = 2X 2.2 2. copS
2 $c0oPS q scoopS 9256 = X Wk trex

c. A publishing company is looking for new employees who can type at least 45 words per minute. Jessie can
type 704 words in 16 minutes. Does she type fast enough to qualify for the job?
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Using Unil Kales on a Grah

Claire 8 Kate entered a cup stacking contest so they have been practicing. Below is o groph of their progress.
Cwps
Kate: ¢ = 4¢, where { represents the smount of “C.MS
Seconds vs, Stacked Cups time in seconds and ¢ represents the aumber of
*  stacked cups.
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. a. At what rate does eoch gif stock her
. cups during the practice session?
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b. Kate nofices she is not stacking her \
‘ cups fast enough. What would Kate's |

equation look like if she wanted to stack
cups faster than Claire?
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Emilio was to buy a new motorcycle. He wants to base his decision off the gas efficiency for each motorcycle.
Which motorcycle is more gas efficient?
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When viewing a unit rate on a graph, you are essentially looking at the of the linel!
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Practice: caicuiote the siope (unit rate) of each groph:
a. b.
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